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[89-G]                    No. of printed pages : 04 

SARDAR PATEL UNIVERSITY 

B. COM. (V Semester) EXAMINATION 

2012 

Wednesday, 5
th 

December 

2.30 p.m. to 4.30 p.m.  

UB03ECOM02 : ADVANCED CORPORATE ACCOUNTING 

Ly$g NyZ : 60 
_p¢^ : S>dZu bpSy> âñ_p Ly$g NyZ v$ip®h¡ R>¡. 
 

â.1 âNV$ \e¡gp rlkpbp¡dp„ L$pev$p A_¡ õh¥[ÃR>L$ fus¡ S>¡ Ap ŷr_L$ hgZp¡ v$pMg \ep„ R>¡ s¡_u QQp® 

 (15) 
 L$fp¡, sd¡ L$p¡B A¡L$ L„$`_u_p hs®dp_dp„ âNV$ \e¡g rlkpbp¡ gndp„ fpMu sdpfp¡ S>hpb 

Ap`p¡. 
A\hp 

â.1 k„õ\pNs k„Qpg_ Al¡hpg (Corporate Governance Report) A¡V$g¡ iy„ ? Ap   (15) 
 Al¡hpgdp„ kdphhpdp„ Aphsp dyØpAp¡_u QQp® L$fp¡. 
 
â.2 
A) d|ëeh©qÙ `ÓL$ _ap _yL$ip_ Mpsp\u L„$B fus¡ Sy>vy$„ `X¡$ R>¡ s¡ kdÅhp¡.     

 (07) 
b) A¡`u. rg._p _uQ¡ Ap`¡g âZprgL$pNs AphL$_p `ÓL$ `f\u d|ëeh©qÙ_y„ `ÓL$ s¥epf L$fp¡.  (08) 
 31du dpQ®, 2012_p fp¡S> `|fp \sp hj®_y„ AphL$ `ÓL$ 
 

rhNs  (ê$r`ep 
lÅfdp„) 

h¡QpZ  2000 
bpv$ : dpgkpdN°u_p¡ h`fpi 800  
k¡hp_u Mfuv$u 100  
dS|>fu 400  
Okpfp¡ 100  
Q|L$h¡g ìepS> 200 1600 
L$fh¡fp `l¡gp_p¡ _ap¡  400 
bpv$ : L$fh¡fp 50%  200 
L$fh¡fp bpv$_p¡ _ap¡  200 
bpv$ : qX$rhX$ÞX$_u hl¢QZu  100 
hj® dpV¡$ fp¡L$pe¡gu L$dpZu  100 

 

A\hp 
 

â.2 n rgduV¡$X$_p rlkpbp¡dp„\u spfh¡gu rhNsp¡ _uQ¡ âdpZ¡ R>¡.       (15) 
 

 ê$p.  ê$p. 
h¡QpZ 7142400 fpMu dyL¡$g _ap¡ (L$dpZu) 360000 
h¡QpZ `f L$rdi_ 57600 s¥epf dpg_p¡ õV$p¡L$  
L$pQp dpg_u Mfuv$u 2880000 - iê$Aps_p¡ 576000 
L$pQp dpg_p¡ õV$p¡L$  - ApMf_p¡ 691200 
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- iê$Aps_p¡ 244800 AphL$h¡fp_u Å¡NhpB 288000 
- ApMf_p¡ 311040 Ap¡qX$V$ au 11520 
AÞe dpgkpdp_ 267840 dykpafu MQ® 60480 
ÅhL$ dpg_y„ NpX$u cpXy„$ 63360 d¡_¡Æ„N qX$f¡¼V$f_y„ dl¡_spÏ„ 241920 
k„QpgL$p¡_u au 115200 Ål¡fps MQ® 72000 
b¡ÞL$ gp¡__y„ ìepS> 51840 `p¡õV¡$S> V¡$rgN°pd 40320 
i¡flp¡ëX$fp¡_¡ qX$rhX$ÞX$ 86400 `Npf A_¡ dS|>fu 181440

0 
Okpfp¡ 154400 ârhX$ÞV$ a„X$dp„ apmp¡ 172800 
cpXy„$ A_¡ h¡fp 46080 õV$pa L$ëepZ A„N¡_p MQp® 455040 
qX$b¡ÞQf ìepS> 5760 hudp¡ 78880 

 

  D`f_u dprlsu `f\u sdpf¡ d|ëeh©qÙ `ÓL$ s\p d|ëeh©qÙ_u hl¢QZu v$ip®hsy„ `ÓL$ 
s¥epf L$fu L$d®Qpfu dpV¡$ (L„$`_udp„ L$d®QpfuAp¡_u k„¿ep 1000 R>¡.) D`ep¡Nu NyZp¡Ñfp¡ 
L$d®Qpfuv$uW$ d|ëeh©qÙ A_¡ L$d®Qpfu v$uW$ L$dpZu ip¡^p¡. 

 
â.3 

A) n rg. A¡L$ õV$pÞX$X®$ hõsy_y„ DÐ`pv$_ L$f¡ R>¡. A¡L$dv$uW$ âdpZ `X$sf _uQ¡ âdpZ¡ R>¡.   (08) 
 âÐen dpgkpdp_  - 16 
 âÐen dS|>fu  -   8 
 Qrgs `fp¡n MQ®  -   6 
      30 
  A„v$pS>`Ódp„ S>Zph¡g DÐ`pv$_ 10000 A¡L$dp¡_y„ R>¡. A_¡ [õ\f MQp® ê$p. 

150000 _½$u L$fhpdp„ Apìep R>¡. L„$`_u _urs dyS>b h¡QpZ `f 25% _ap¡ âpá 
L$fhp_p¡ R>¡. 

 
v$¡hp„ ê$p. 

(gpMdp„) 
rdgL$sp¡ ê$p. 

(gpMdp„) 
i¡fd|X$u 7.00 L$pedu rdgL$sp¡ 6.80 
_._y. Mpsy 0.50 Qpgy rdgL$sp¡ 0.90 
g¡Zv$pfp¡ 0.20   
 7.70  7.70 

 
 D`fp¡¼s dprlsu `f\u fp¡L$pZp¡ `f hmsf_p¡ v$f ip¡^p¡. 
 

b) Nd¡ s¡ A¡L$ âñ_p¡ S>hpb Ap`p¡.           (07) 
1) dpê$rs rg._u Ly$g rdgL$sp¡ ê$p. 7000000 A_¡ h¡QpZ ê$p. 11000000 hj® 2010_p 

A„s¡ R>¡. hj® 2010 v$fçep__p¡ L$fh¡fp bpv$_p¡ _ap¡ ê$p. 420000 R>¡ (L$fh¡fp_p¡ v$f 40% 
R>¡). 

  hj® 2011 v$fçep__u A„v$pÆs dprlsu dyS>b h¡QpZ ê$p. 13720000 s\p 
L$fh¡fp bpv$ _ap¡   ê$p. 604800 (L$fh¡fp v$f 40%) A_¡ s¡_u Ly$g rdgL$sp¡ ê$p. 
8400000 R>¡. 

  Å¡ A„v$pÆs Ap„L$X$p dyS>b 2012dp„ `qfZpdp¡ âpá \hp_p lp¡e sp¡ fp¡L$pe¡g d|X$u `f 
hmsfdp„ iy„ a¡fapf \i¡ s¡ ip¡^p¡. 
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2) fp¡L$pe¡gu d|X$u `f hmsf_p apev$p `f _p¢^ gMp¡. 
 

A\hp 
 

 

â.3 X rg._y„ 31 qX$k¡çbf 2011_p fp¡S>_y„ `pLy„$ kfh¥ey„ _uQ¡ dyS>b R>¡.      (15) 
 

v$¡hp„ ê$p. rdgL$sp¡ ê$p. 
i¡fd|X$u  `pOX$u 10000 
5000 B[¼hV$u i¡f ê$p. 
100_p¡ 

500000 dL$p_ (`X$sf qL„$ds bpv$ Okpfp¡) 100000 

2000 10% â¡a. i¡fd|X$u    
ê$p. 100_p¡ 

 
200000 

àgpÞV$ e„Ó (`X$sf qL„$ds bpv$ 
Okpfp¡) 

 
200000 

kpdpÞe A_pds 70000 `¡V$ÞV$ (bpv$ dp„X$u hpm¡g) 4600 
i¡f râdued 50000 fp¡L$pZp¡  
_ap _yL$ip_ Mpsy 
6% qX$b¡ÞQf 

45000 
40000 

i¡f bÅfdp„ _p¢^pe¡g (bÅf  
qL„$ds ê$p. 15000) 

 
10000 

`fQyfZ g¡Zv$pfp¡ 70000 ^„^p_p fp¡L$pZp¡ 20000 
v$¡hu lŸ„X$u 25000 i¡fbÅfdp„ _lu _p¢^pe¡g i¡f 10000 
_rl Q|L$hpe¡g qX$rhX$ÞX$ 3000 Np¥Z L„$`_u_p i¡f 120000 
L$fh¡fp_u Å¡NhpB 7000 õV$p¡L$ A_¡ õV$p¡k® 150000 
  `fQyfZ v$¡hpv$pfp¡ 300000 
  lp\ `f fp¡L$X$ A_¡ b¡ÞL$ rkgL$ 30000 
  g¡Zu lŸ„X$uAp¡ 50000 
  âp\rdL$ MQp® 5400 
 1010000  101000

0 
 

 h^pfp_u dprlsu : 
1) dL$p_ A_¡ àgpÞV$ e„Ó_y„ d|ëe lpg s¡_u `y_:õ\p`_p qL„$ds¡ A_y¾$d¡ ê$p. 150000 A_¡ ê$p. 

300000 R>¡. 
2) Np¥Z L„$`_u_p i¡f_u AÐepf¡ qL„$ds ê$p. 150000 Ap„L$u iL$pe. 
3) „̂^p_p fp¡L$pZp¡_u qL„$ds ê$p. 25000 A_¡ i¡f bÅfdp„ _rl _p¢^pe¡gp i¡fp¡_u qL„$ds ê$p. 

15000 R>¡. i¡fbÅfdp„ _p¢^pe¡gp fp¡L$pZp¡_¡ L„$`_u_p kpdpÞe L$pdL$pS> kp\¡ L$p¡B k„b„^ _\u. 
4) õV$p¡L$dp„ _uQ¡ dyS>b lhpgp¡ S>ê$fu R>¡. 
 õV$p¡L$ A_¡ õV$p¡k®dp„ kdph¡i L$fhpdp„ Aph¡g L$pQp dpg_u qL„$dsdp„ ê$p. 50000_p¡ h^pfp¡ 

L$fhp¡ Äepf¡ _L$pdp¡ \B Ne¡g ê$p. 10000_p¡ õV$p¡L$ dp„X$u hpmhp_p¡ R>¡. 
5) `¡V$ÞV¹$k_u bÅf qL„$ds Ap¡R>pdp„ Ap¡R>u ê$p. 10000 NZu iL$pe s¡d R>¡. 
6) hj®_p¡ _ap¡ ê$p. 150000 R>¡. 
7) rdgL$sp¡ s¡_u `y_: õ\p`_p qL„$ds¡ NZhu lp¡e sp¡ _uQ¡ dyS>b Okpfp¡ S>ê$fu R>¡. 
 dL$p_ - ê$p. 10000,  àgpÞV$ e„Ó - ê$p. 15000 A_¡ `¡V$ÞV¹$k - ê$p. 2000 
8) Nep hj£ \e¡g ê$p. 100000_p h¡QpZ `f _ap¡ ê$p. 11000 Qpgy hj®_p _apdp„ Dd¡fu v$¡hpdp„ 

Apìep¡ R>¡. 
9) `|fp \e¡gp L$p¡ÞV²$p¼V$ `f_p¡ _ap¡ ê$p. 3000 R>¡ S>¡ _apdp„ NZhpdp„ Apìep¡ _\u. 
10) hj® v$fçep_ dp„X$u hpm¡g `pOX$u_u fL$d ê$p. 2000 R>¡. 
11) i¡f bÅfdp„ _p¢^pe¡gp i¡f_u AphL$ ê$p. 1000 Qpgy hj®_p„ _apdp„ NZhpdp„ Aphu R>¡. 
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12) Qpgy hj£ A¡L$ rdgL$s h¡Qsp„ \e¡g ê$p. 500_u Mp¡V$ _ap _yL$ip_ Mps¡ D^pfu R>¡. 
 D`f_u rhNsp¡ `f\u; 
 1) fp¡L$pe¡gu Ly$g d|X$u A_¡ fp¡L$pe¡gu Qp¡¿Mu dyX$u 
 2) k„QpgL$p¡_p A„Ly$i dpV¡$ A_¡ Apep¡S>_ dpV¡$_p¡ _ap¡ 
 3) fp¡L$pe¡gu d|X$u `f hmsf (Ly$g fp¡L$pe¡g d|X$u s\p Qp¡¿Mu fp¡L$pe¡g d|X$u `f) 
 4) dprgL$u_p c„X$p¡mp¡ 
 5) dprgL$u_p c„X$p¡mp¡ `f hmsf_p¡ v$f (L$fh¡fp_p¡ v$f 40%)  R>¡. 

â.4 NyS>fps rg. S>¡ cpX$p Mfuv$ `Ùrs\u h¡QpZ L$f¡ R>¡ s¡_p Qp¡`X$pdp„\u _uQ¡ dyS>b_u dprlsu   (15) 
 âpá \e¡g R>¡. cpX$p Mfuv$ `Ùrs dyS>b s¡ d|m qL„$ds `f 60% _ap¡ QY$ph¡ R>¡. 
  sdpf¡ cpX$p Mfuv$ h¡`pf Mpsy s\p 2010_p hj® v$fçep_ \e¡g ìehlpfp¡ A„N¡_u 

Apd_p¢^ Ap`hp_u R>¡. 
  

 ê$p. 
ÅÞey. 1, 2010 cpX$p Mfuv$ õV$p¡L$ (cpX$p Mfuv$ qL„$ds¡) 32000 
g¡Zp„ \e¡g `f„sy _rl dm¡g láp 4600 
hj® v$fçep__p ìehlpfp¡ _uQ¡ dyS>b R>¡.  
1) hj® v$fçep_ cpX$p Mfuv$\u h¡Q¡g dpg (cpX$p Mfuv$ qL„$ds¡) 160000 
2) hj® v$fçep_ dm¡gu fp¡L$X$ 116000 
3) `fs Aph¡g dpg (S>¡_p `f ê$p. 4000_p láp dmhp_u 
bpL$u) 

600 

X$uk¡. 31, 2010_u bpL$u  
- cpX$p Mfuv$ õV$p¡L$ (cpX$p Mfuv$ qL„$ds¡) 72000 
- g¡Zp \e¡g `f„sy _rl dm¡g láp 4000 

 

A\hp 
 

â.4 A¡L$ ar_®Qf_p¡ h¡`pfu cpX$p Mfuv$ `Ùrs\u h¡QpZ_p¡ „̂^p¡ L$f¡ R>¡. s¡_p Qp¡`X$pdp„\u _uQ¡   (15) 
 dyS>b_u dprlsu g¡hpdp„ Aphu R>¡. 
 

 ê$p. 
ÅÞey. 1-2010_u bpL$u  
- cpX$p Mfuv$_p¡ õV$p¡L$ (cpX$p Mfuv$ 
qL„$ds¡) 

40000 

- vy$L$p__p¡ õV$p¡L$ (`X$sf qL„$ds¡) 5000 
- g¡Zp„ \e¡g `f„sy _rl dm¡g láp 3000 
qX$k¡çbf 31, 2010_u bpL$u  
- cpX$p Mfuv$_p¡ õV$p¡L$ (cpX$p Mfuv$ 
qL„$ds¡) 

46000 

- vy$L$p__p¡ õV$p¡L$ (`X$sf qL„$ds¡) 7000 
- g¡Zp„ \e¡g `f„sy _lu dm¡g láp 2000 
hj® v$fçep__p ìehlpfp¡  
- hj® v$fçep_ `fs Aph¡g dpg (S>¡ `f 
ê$p. 3000_p láp bpL$u R>¡.) 

 
500 

- hj® v$fçep_ dpg_u Mfuv$u 68000 
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- hj® v$fçep_ dm¡g láp_u fL$d 80000 
 

 cpX¡$ Mfuv$ qL„$ds `f 25% _ap¡ dm¡ s¡ fus¡ h¡QpZ L$fhpdp„ Aph¡ R>¡. 
 

  sdpf¡ õV$p¡L$ A_¡ v$¡hpv$pf `Ùrs dyS>b _ap¡ ip¡^hp dpV¡$ cpX¡$ Mfuv$ h¡`pf Mpsy s\p 
D`fp¡¼s `Ùrs_p D`ep¡N dpV¡$_p S>ê$fu Mpsp„ s¥epf L$fhp_p R>¡. 








